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MANAGEMENT ACCOUNTING–II–602

(Semester–VI)

Time : Two Hours] [Maximum Marks : 70

Note : Attempt any four questions. All questions carry equal
marks.

I. “Cost-volume profit analysis is primarily used in guiding
decisions yet to be made”. Explain the statement with
examples.

II. What is Marginal Costing? How marginal costing is an
improvement over Absorption costing? Discuss.

III. The sales turnover and profit during two years were as
follows :

2015 2016
Rs. Rs.

Sales 1,50,000 1,70,000

Profit 20,000 25,000
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You are asked to determine :

(i) P/V Ratio

(ii) Fixed costs

(iii) Break-even point

(iv) The sales required to earn a profit of Rs. 40,000.

(v) The profit made when sales are Rs. 2,50,000.

IV. Small Tools Factory has a plant capacity adequate to provide

19,800 hours of machine use. The plant can produce all A

type or all B type tools or mixture of two types. The following

information is relevant :

Per Type A B

Selling Price Rs. 5 Rs. 9

Variable Cost Rs. 3 Rs. 6

Hours required to produce 3 4

Market conditions are such that no more than 4,000 A type

tools and 3,000 B type tools can be sold in a year. Annual

fixed costs are Rs. 9,900.
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Compute the product mix that will maximize the net income

of the company and find the maximum net income.

V. Discuss briefly the advantages and limitations of budgetary

control.

VI. Explain the various cost centres with reference to responsibility

accounting.

VII. From the following data, calculate labour variances :

The budgeted labour force for producing Product A is :

– 20 Semi-skilled workers @ Re. 0.75 per hour for 50

hours.

– 10 Skilled workers @ Rs. 1.25 per hour for 50 hours.

The actual labour force employed for producing A is :

– 22 Semi-skilled workers @ Re. 0.80 per hour for 50

hours.

– 8 Skilled workers @ Rs. 1.20 per hour for 50 hours.

VIII. From the following data, prepare a flexible budget for

production of 6,000, 7,000 and 8,000 irons showing distinctly
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marginal cost and total cost. Budgeted output is 10,000

irons and budgeted cost per unit is as follows :

Rs. Rs.

Direct material 60 Administration expenses

Direct labour 30 (fixed) 5

Variable overheads 25 Selling expenses

Fixed overheads (10% fixed) 15

(Rs. 1,50,000) 15 Distribution expenses

Variable expenses (Direct) 5 (20% fixed) 5

IX. Write short notes on any ten :

(i) Margin of Safety.

(ii) Break even chart.

(iii) Differential costing.

(iv) Fixed vs flexible budget.

(v) Zero base budgeting.

(vi) Variance analysis.

(vii) Given that the cost standard for materials consumption
are 40 kgs. at Rs. 10 per kg. Compute material
cost variance when actuals are 48 kgs. at Rs. 12
per kg.



(viii) A factory produces two product P and Q, P takes 10
hours to produce and Q requires 16 hours as per the
budget. A month has 25 budgeted days of 8 hours
each. During the month 500 units of P and 400 units
of Q were produced. The factory employs 50 workers.
They actually worked for 9 hours daily for 24 days.
Calculate Efficiency Ratio.

(ix) Data relating to a job are as thus :

Standard rate of wages per hour Rs. 10; Standard
hours 300; Actual rate of wages per hour Rs. 12;
Actual hours 200. Calculate Labour Efficiency variance.

(x) A company has earned a contribution of Rs. 1,00,000
and net profit Rs. 75,000 on sales of Rs. 4,00,000.
What is margin of safety?

(xi) & (xii) Find P/v Ratio and Actual Sales :

Fixed Cost Rs. 8,000; Profit Rs. 2,000; Break even
point Rs. 40,000.

4133/MR/9810/HHH/26 5 [P. T. O.



PUNJABI VERSION

not : koeI cwr pRSn kro[ swry pRSnW dy AMk brwbr

hn[

I. 'lwgq-mwqrw lwB ivSlySx muK qOr qy kIqy jwx vwly

inrixAW leI mwrg-drSn vwsqy vriqAw jWdw hY['

ies kQn dI audwhrxW nwl crcw kro[

II. mwrjInl lwgqkwrI kI huMdI hY? mwrjInl lwgqkwrI

smweI lwgqkwrI dI qulnw iv`c ivhqr FMg ikvyN hY?

crcw kro[

III. inmn-drj vyrivAW dw AiDAYn krky loVINdI kwrvweI

kro :

The sales turnover and profit during two years were as
follows :

2015 2016
Rs. Rs.

Sales 1,50,000 1,70,000

Profit 20,000 25,000
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You are asked to determine :

(i) P/V Ratio.

(ii) Fixed costs.

(iii) Break-even point.

(iv) The sales required to earn a profit of Rs. 40,000.

(v) The profit made when sales are Rs. 2,50,000.

IV. inmn-drj vyrivAW dw AiDAYn kro Aqy pu`Cy gey pRSn

dw au~qr ilKo :

Small Tools Factory has a plant capacity adequate to provide

19,800 hours of machine use. The plant can produce all A

type or all B type tools or mixture of two types. The following

information is relevant :

Per Type A B

Selling Price Rs. 5 Rs. 9

Variable Cost Rs. 3 Rs. 6

Hours required to produce 3 4
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Market conditions are such that no more than 4,000 A type

tools and 3,000 B type tools can be sold in a year. Annual

fixed costs are Rs. 9,900.

Compute the product mix that will maximize the net income

of the company and find the maximum net income.

V. b`jtrI inXMqrx dy lwBW Aqy sImwvW dI sMKyp crcw

kro[

VI. izMmyvwrI lyKwkwrI dy hvwly nwl iviBMn lwgq kyNdrW

bwry jwxkwrI idE[

VII. inmn-drj dw AiDAYn krky loVINdI kwrvweI kro :

From the following data, calculate labour variances :

The budgeted labour force for producing Product A is :

– 20 Semi-skilled workers @ Re. 0.75 per hour for 50

hours.

– 10 Skilled workers @ Rs. 1.25 per hour for 50

hours.
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The actual labour force employed for producing A is :

– 22 Semi-skilled workers @ Re. 0.80 per hour for

50 hours.

– 8 Skilled workers @ Rs. 1.20 per hour for 50 hours.

VIII. inmn-drj vyrivAW dw AiDAYn krky puCy gey pRSn dw

au~qr ilKo :

From the following data, prepare a flexible budget for

production of 6,000, 7,000 and 8,000 irons showing distinctly

marginal cost and total cost. Budgeted output is 10,000

irons and budgeted cost per unit is as follows :

Rs. Rs.

Direct material 60 Administration expenses

Direct labour 30 (fixed) 5

Variable overheads 25 Selling expenses

Fixed overheads (10% fixed) 15

(Rs. 1,50,000) 15 Distribution expenses

Variable expenses (Direct) 5 (20% fixed) 5
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IX. iksy ds dy sMKyp au~qr ilKo :

(i) sur`iKAw dy mwrijn qoN kI Bwv hY?

(ii) bRyk-eIvn cwrt dy ArQ ilKo[

(iii) iBMnqwmUlk lwgqkwrI kI huMdI hY?

(iv) sQweI bnwm lckdwr bjt ivcwro[

(v) zIro-AwDwrI bjitMg qoN kI Bwv hY?

(vi) vyrIeyNs ivSlySx kI huMdw hY?

(vii) sm`gRI dI Kpq 40 iklo, 10 rupey pRqI iklo hY[ jy

vwsqivk qOr qy 48 iklo 12 rupey pRqI lwgq hovy,

qW sm`gRI lwgq dI iBMnqw AMko[

(viii) A factory produces two product P and Q. P takes 10

hours to produce and Q requires 16 hours as per the

budget. A month has 25 budgeted days of 8 hours

each. During the month 500 units of P and 400 units

of Q were produced. The factory employs 50 workers.

They actually worked for 9 hours daily for 24 days.

Calculate Efficiency Ratio.
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(ix) Data relating to a job are as thus :

Standard rate of wages per hour Rs. 10; Standard
hours 300; Actual rate of wages per hour Rs. 12;
Actual hours 200. Calculate Labour Efficiency variance.

(x) iek kMpnI ny 4,00,000 dI ivkrI qy kul nPw 75,000

rupey kmwieAw hY Aqy 1,00,000 Xogdwn kmwieAw

hY[ syPtI dw mwrijn kI hY?

(xi) & (xii) P/V Anupwq Aqy vwsqivk ivkrI dw pqw

lwE :

sQweI lwgq 8,000 rupey; lwB 2,000 rupey; bRyk eIvn

puAWieMt 40,000 rupey[

——————
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